
 120 

 1
20

 

 50 
 100 

 5
0 

 1
00

 

25 x  M4 - 6H  8
 3.3  10.1

 173 

 1
65

 

 4
6 

 100   4-M4螺钉安装孔 

零件图

项目号 零件号 说明 数量

1 凹导轨 2

2 凸导轨 2

3 保持架 1

4 锁紧片 1

5 锁紧螺丝 1

6 钢珠 1

7 GB_CROSS_SCREWS_TYPE1 
M4X6-6  H type-N 2

8 M4X10X0.5垫片 2

9 M5X12X0.5垫片 2

10 GB_FASTENER_SCREWS_HSH
CS M4X20-N 2

11 底板-R 1

12 顶板-R 1

13 微分头座 1

14 挡块 1

15 拉簧 1

16 球头微分头-50 1

17 微分头-50螺母 1

18 GB_SOCKET_TYPE7 M4X14-
N 1

19 GB_FASTENER_SCREWS_HSH
CS M4X10-N 2

材  料

视  图

审    核

数  量
比  例

制    图

图       号
类       别
项目名称

深圳市得地为业科技有限公司

F

设    计

未注公差尺寸，公差按此表
> 至 F G JH LK

8
8 25
25 80
80 250
250

±0.05

±0.08

±0.12

±0.25

±0.50

±0.20

±0.60

±0.30

±0.15

±0.10 ±0.20

±1.00

±0.10

±0.15

±0.25

±0.40

±0.80

±0.20 ±0.40

±0.30 ±0.30 ±0.60

±0.40 ±0.50 ±0.80

±0.60 ±0.80 ±1.20

±2.00±1.50~

~

公  差 令单ID

零件名称

图 纸 修 改
第一次修改
第二次修改
第三次修改
第四次修改
第五次修改

日  期 签  名

A120-182L


	图纸1
	工程图视图1
	工程图视图3


